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[ADC RMS for RDO=2,ARM=0,APV=17 _}

50

RMS (ADC-ped)

40 E

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

45

40

RMS (ADC-ped)
if |I1II
IJ .

35

30

25

20

15

10

SR F A PO P FITFIY

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=19 |

50

RMS (ADC-ped)

40

30

20

10

°THI]'I'I'H|11'I‘I‘ II1'I"H-H'__'I'__I;I'_[

APV channel

[CADC RMS for RDO=2,ARM=0,APV=20 _}

|'I1I

70

60

RMS (ADC-ped)

50

40

T T

30 =—-f-~--7-

20 = e

10 f=-------+| -

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

160

140

120

RMS (ADC-ped)

100
80

60 f—

40

20

0

APV channel
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run_13048087 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 17 18:41:27 2012
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[ADC RMS for RDO=2,ARM=LAPV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

" " " " " " " " " " " " " " 1 " " " 1
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=14 "}

RMS (ADC-ped)

N N i
20 40 60 80 100 120
APV channel

RMS (ADC-ped)

4

BI5)

B]

215

2

5]

1

05 |5

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=16 }

RMS (ADC-ped)

35

25

15

0.5

20 40 60 80 100 120
APV channel

OEH:&FHﬂﬂ:FﬂEI:]:IIHPHI[I‘I11|IH‘I]IIH




run_13048087 _FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
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